

Математички Билтен  
16 (XLII)  
1992 (63-72)  
Скопје, Македонија

ON SOME CLASSICAL INEQUALITIES IN UNITARY SPACES

Josip E. Pečarić

**Abstract.** In this paper we shall give some remarks about some classical inequalities in unitary spaces. In the first section we shall consider some inequalities which are in connector to the Buniakowsky-Cauchy-Schwarz inequality, in the second to the Bessel inequality, and in the third to the Clarkson inequality.

1. On some inequalities related to the Buniakowsky-Cauchy-Schwarz inequality

S. Kurepa [1] proved the following two results:

**Theorem A.** Let  $X$  be a real Hilbert space and  $X_C$  the complexification of  $X$ . Then for any couple of vectors  $a \in X$  and  $z \in X_C$  the following inequality holds:

$$|(z, a)|^2 \leq |a|^2 \left( \frac{1}{2} |z|^2 + \frac{1}{2} |(z, \bar{z})| \right) \leq |a|^2 |z|^2 \quad (1)$$

where  $\bar{z}$  denotes the conjugate vector of  $z$ .

**Theorem B.** Let  $X$  be a real Hilbert space and  $e$  a unit vector in  $X$ , suppose that  $a, b \in X$  are given vectors such that

$$(u^2 - |a_0|^2) + (v^2 - |b_0|^2) \geq 0 \quad (2)$$

where  $u = (a, e)$ ,  $v = (b, e)$ ,  $a_0 = a - ue$ ,  $b_0 = b - ve$ .

Then the following inequality holds:

$$(u^2 - |a_0|^2)(v^2 - |b_0|^2) \leq (uv - (a_0, b_0))^2. \quad (3)$$

If  $a$  and  $b$  are independent vectors and in (2) the strict inequality holds, then also in (3) strict inequality holds.

Here we shall give some related results.

Our first result is an extension of a result from [2], and it is related to (1).

Theorem 1. Let  $X$  be a real unitary space and  $f, g, h \in X$ . Then

$$-\frac{1}{2}|f|^2(|g||h| - (g, h)) \leq (f, g)(f, h) \leq \frac{1}{2}|f|^2(|g||h| + (g, h)). \quad (4)$$

Proof. If  $g$  and  $h \neq 0$  we can suppose that  $|g|=|h|$ . Further let  $g=p+q$ ,  $h=p-q$ , i.e.  $p = \frac{g+h}{2}$ ,  $q = \frac{g-h}{2}$ . Then we have  $(p, q)=0$ . We also have

$$|g||h| = |p+q||p-q| = |p|^2 + |q|^2,$$

and

$$(g, h) = (p+q, p-q) = |p|^2 - |q|^2.$$

Suppose that  $r=f-up-vq$ , where  $u$  and  $v$  are real numbers such that

$$(r, p) = 0 \quad \text{and} \quad (r, q) = 0.$$

Then

$$|f|^2 = (f, f) = |r|^2 + u^2|p|^2 + v^2|q|^2,$$

so we have

$$(f, g)(f, h) = u^2|p|^4 - v^2|q|^4.$$

Therefore

$$(f, g)(f, h) \leq u^2|p|^2|p|^2 \leq \frac{1}{2}|f|^2(|g||h| + (g, h))$$

and

$$(f, g)(f, h) \geq -v^2|q|^2|q|^2 \geq -\frac{1}{2}|f|^2(|g||h| - (g, h)).$$

In connection to Theorem B is:

Theorem 2. If  $X$  is a real Hilbert space,  $x_1, \dots, x_m$  and  $y_1, \dots, y_m$  are vectors from  $X$  and  $u, v$  are real numbers such that we have

$$u^2 - G(x_1, \dots, x_m) > 0 \quad \text{or} \quad v^2 - G(y_1, \dots, y_m) > 0, \quad (5)$$

where  $G$  is the Gram determinant, then

$$(u^2 - G(x_1, \dots, x_m))(v^2 - G(y_1, \dots, y_m)) \leq \left\{ uv - \det \begin{bmatrix} (x_1, y_1) & \dots & (x_1, y_m) \\ \vdots & & \vdots \\ (x_m, y_1) & \dots & (x_m, y_m) \end{bmatrix} \right\}^2. \quad (6)$$

Proof. Let  $e_1, \dots, e_m$  be any orthonormal set in  $X$ . Using Lemma 3 from [1] and the well-known Aczél inequality (see for example [3, p. 57]) we get

$$\begin{aligned}
& (u^2 - G(x_1, \dots, x_m))(v^2 - G(y_1, \dots, y_m)) = \\
& = (u^2 - \sum_{j_1 < \dots < j_m} \left| \det \begin{bmatrix} (x_1, e_{j_1}) & \dots & (x_1, e_{j_m}) \\ \vdots & \dots & \vdots \\ (x_m, e_{j_1}) & \dots & (x_m, e_{j_m}) \end{bmatrix} \right|^2) \times \\
& \times (v^2 - \sum_{j_1 < \dots < j_m} \left| \det \begin{bmatrix} (y_1, e_{j_1}) & \dots & (y_1, e_{j_m}) \\ \vdots & \dots & \vdots \\ (y_m, e_{j_1}) & \dots & (y_m, e_{j_m}) \end{bmatrix} \right|^2) \leq \\
& \leq (uv - \sum_{j_1 < \dots < j_m} \det \begin{bmatrix} (x_1, e_{j_1}) & \dots & (x_1, e_{j_m}) \\ \vdots & \dots & \vdots \\ (x_m, e_{j_1}) & \dots & (x_m, e_{j_m}) \end{bmatrix} \det \begin{bmatrix} (e_{j_1}, y_1) & \dots & (e_{j_m}, y_m) \\ \vdots & \dots & \vdots \\ (e_{j_m}, y_1) & \dots & (e_{j_m}, y_m) \end{bmatrix})^2 = \\
& = \left\{ uv - \det \begin{bmatrix} (x_1, y_1) & \dots & (x_1, y_m) \\ \vdots & \dots & \vdots \\ (x_m, y_1) & \dots & (x_m, y_m) \end{bmatrix} \right\}^2.
\end{aligned}$$

Moreover, if we use Aczél's inequality for  $n=2$  with

$$a_1 \rightarrow u, \quad b_1 \rightarrow v, \quad a_2^2 \rightarrow G(x_1, \dots, x_m), \quad b_2^2 \rightarrow G(y_1, \dots, y_m),$$

we get:

**Theorem 3.** If  $X$  is a real Hilbert space,  $x_1, \dots, x_m$  and  $y_1, \dots, y_m$  are vectors from  $X$  and  $u, v$  are real numbers such that

$$u^2 - G(x_1, \dots, x_m) > 0 \quad \text{and} \quad v^2 - G(y_1, \dots, y_m) > 0, \quad (7)$$

then

$$\begin{aligned}
& (u^2 - G(x_1, \dots, x_m))(v^2 - G(y_1, \dots, y_m)) \leq \\
& \leq (uv - G^{1/2}(x_1, \dots, x_m)G^{1/2}(y_1, \dots, y_m))^2 \leq \\
& \leq (uv - \det \begin{bmatrix} (x_1, y_1) & \dots & (x_1, y_m) \\ \vdots & \dots & \vdots \\ (x_m, y_1) & \dots & (x_m, y_m) \end{bmatrix})^2. \quad (8)
\end{aligned}$$

Of course, in the last inequality we have used Corollary 5 from [1].

The following generalization of a result from [4, p. 383] is given in [5]:

**Theorem C.** Let  $a$  and  $b$  be linearly independent vectors in an unitary vector space  $V$  and let  $x$  be a vector in  $V$  such that

$$(x, a) = u \quad \text{and} \quad (x, b) = v. \quad (9)$$

Then

$$G(a, b) |x|^2 \geq |\bar{u}b - \bar{v}a|^2 \quad (10)$$

with equality if and only if

$$x = \frac{(a, \bar{v}a - \bar{u}b)b - (b, \bar{v}a - \bar{u}b)a}{G(a, b)}. \quad (11)$$

Here we shall note that the following generalization of results from [4, p. 383], [5] and [6] can be proved similarly:

Theorem 4. Let  $a, b, c_1, \dots, c_n$  be vectors in an unitary vector space  $V$  such that  $(a, c_j)(b, c_i) \neq (a, c_i)(b, c_j)$  for  $i \neq j$ . If  $p_{ij}$  ( $i, j=1, \dots, n, i \neq j$ ) are real numbers such that  $p_{ij} = p_{ji}$ ,

$P = \sum_{1 \leq i < j \leq n} p_{ij} \neq 0$  then

$$p^2 \frac{|va - ub|^2}{G(a, b)} \leq \sum_{i=1}^n \left| \sum_{\substack{j=1 \\ j \neq i}}^n \frac{p_{ij}(va - ub, c_j)}{(a, c_j)(b, c_i) - (a, c_i)(b, c_j)} \right|^2. \quad (12)$$

Moreover, further generalizations of these results can be given in the form as in [7]. For given matrix  $A = [a_{ij}]$  we use notation  $A^{(p)}$  for the matrix  $[a_{ij}^p]$ . We have

$$G^{(p)}(a, b) = (|a|^2|b|^2 - |(a, b)|^2)^p \leq |a|^{2p}|b|^{2p} - |(a, b)|^{2p} = G^{(p)}(a, b),$$

as a consequence of the following simple inequality

$$(a-b)^p < a^p - b^p \quad (a > b > 0, p > 1).$$

(In fact, this inequality is a simple consequence of Petrović's inequality [3, p. 23] for convex function  $f(x) = x^p, p > 1$ .)

Using this result and Theorems C and 4 we get:

Theorem 5. Let the conditions of Theorem C be fulfilled and let  $p \geq 1$ . Then

$$G^{(p)}(a, b) |x|^{2p} \geq |\bar{u}b - \bar{v}a|^{2p}. \quad (13)$$

Theorem 6. Let the conditions of Theorem 4 be fulfilled and let  $p \geq 1$ . Then

$$p^{2p} \frac{|va - ub|^{2p}}{G^{(p)}(a, b)} \leq \left( \sum_{i=1}^n \left| \sum_{\substack{j=1 \\ j \neq i}}^n \frac{p_{ij}(va - ub, c_j)}{(a, c_j)(b, c_i) - (a, c_i)(b, c_j)} \right|^2 \right)^p.$$

Note that in [7] a discrete analogue of (13) for  $u=0$ ,  $v=1$  and  $p \in \mathbb{N}$  was considered. The above proof is simpler than that from [7].

## 2. On some generalizations of the Bessel inequality

E. Bombieri [8] proved the following generalization of the well-known Bessel inequality:

Theorem D. If  $x, y_1, \dots, y_n$  are elements of an unitary space over the field of complex numbers, then

$$\sum_{r=1}^n |(x, y_r)|^2 \leq |x|^2 \max_{1 \leq r \leq n} \sum_{s=1}^n |(y_r, y_s)|. \quad (15)$$

We see that if the  $y_r$  are orthonormal then the above reduces to the Bessel inequality.

In fact Bombieri's result is equivalent to ([9]):

Theorem E. If  $x, y_1, \dots, y_n$  are as above, then

$$\left| \sum_{r=1}^n C_r (x, y_r) \right|^2 \leq \left( \sum_{r=1}^n |C_r|^2 \right) |x|^2 \max_{1 \leq r \leq n} \sum_{s=1}^n |(y_r, y_s)|, \quad (16)$$

where  $C_r$  are arbitrary complex numbers.

A. Selberg [10] proved the following generalization of the Bessel inequality:

Theorem F. If  $x, y_1, \dots, y_n$  are as above then

$$\sum_{r=1}^n |(x, y_r)|^2 \left( \sum_{s=1}^n |(y_r, y_s)| \right)^{-1} \leq |x|^2. \quad (17)$$

H. Heilbronn [11] proved:

Theorem G. If  $x, y_1, \dots, y_n$  are as above, then

$$\sum_{r=1}^n |(x, y_r)| \leq |x| \left( \sum_{r,s} |(y_r, y_s)| \right)^{1/2}. \quad (18)$$

Here, we shall note that the following interpolation of (16) is valid:

Theorem 7. Let the conditions of Theorem E be fulfilled.

Then

$$\begin{aligned}
 \left| \sum_{r=1}^n C_r(x, y_r) \right|^2 &\leq |x|^2 \sum_{r=1}^n |C_r|^2 \sum_{s=1}^n |(y_r, y_s)| \leq \\
 &\leq |x|^2 \left( \sum_{r=1}^n |C_r|^2 \right) \max_{1 \leq r \leq n} \sum_{s=1}^n |(y_r, y_s)|.
 \end{aligned} \tag{19}$$

Proof. Since

$$\sum_{r=1}^n C_r(x, y_r) = (x, \sum_{r=1}^n \bar{C}_r y_r),$$

we get

$$\left| \sum_{r=1}^n C_r(x, y_r) \right|^2 \leq |x|^2 \left| \sum_{r=1}^n \bar{C}_r y_r \right|^2. \tag{20}$$

Further, we have

$$\left| \sum_{r=1}^n \bar{C}_r y_r \right|^2 = \sum_{r,s=1}^n \bar{C}_r C_s (y_r, y_s) \leq \sum_{r,s=1}^n |C_r| |C_s| |(y_r, y_s)|. \tag{21}$$

Since  $|C_r| |C_s| \leq \frac{1}{2} (|C_r|^2 + |C_s|^2)$ , we get from (21)

$$\left| \sum_{r=1}^n \bar{C}_r y_r \right|^2 \leq \sum_{r=1}^n |C_r|^2 \sum_{s=1}^n |(y_r, y_s)| \leq \left( \sum_{r=1}^n |C_r|^2 \right) \max_{1 \leq r \leq n} \sum_{s=1}^n |(y_r, y_s)|. \tag{22}$$

Now, (20) and (22) give (19).

Remark. In fact, we proved

$$\begin{aligned}
 \left| \sum_{r=1}^n C_r(x, y_r) \right|^2 &\leq |x|^2 \left| \sum_{r=1}^n \bar{C}_r y_r \right|^2 \leq |x|^2 \sum_{r=1}^n |C_r|^2 \sum_{s=1}^n |(y_r, y_s)| \leq \\
 &\leq |x|^2 \left( \sum_{r=1}^n |C_r|^2 \right) \max_{1 \leq r \leq n} \sum_{s=1}^n |(y_r, y_s)|.
 \end{aligned}$$

Now, we shall show that Theorems F and G are simple consequences of the first inequality in (19). Indeed, for

$$C_r = \overline{(x, y_r)} \left( \sum_{s=1}^n |(y_r, y_s)| \right)^{-1}$$

we get

$$\begin{aligned}
 \left( \sum_{r=1}^n |(x, y_r)|^2 \left( \sum_{s=1}^n |(y_r, y_s)| \right)^{-1} \right)^2 &\leq \\
 &\leq |x|^2 \sum_{r=1}^n |(x, y_r)|^2 \left( \sum_{s=1}^n |(y_r, y_s)| \right)^{-1},
 \end{aligned}$$

what is equivalent to (17).

Now, for

$$C_r = \exp(-i \arg(x, y_r))$$

the first inequality in (19) becomes

$$\left( \sum_{r=1}^n |(x, y_r)| \right)^2 \leq |x|^2 \sum_{r=1}^n \sum_{s=1}^n |(y_r, y_s)|,$$

i.e. (18).

### 3. Inequalities of Clarkson type

Let  $(X, (.,.))$  be a prehilbertian space on  $K$  ( $K=C, R$ ). The following results are proved by S.S. Dragomir and I.Sandor [12]:

For every  $x, y \in X$  we have

$$|x+y|^p + |x-y|^p \geq (|x|+|y|)^p + ||x|-|y||^p \quad (23)$$

if  $1 < p < 2$ , and

$$|x+y|^p + |x-y|^p \geq 2(|x|^p + |y|^p) \quad (24)$$

if  $p \geq 2$ .

In fact, using the idea of their proof we can prove the following result:

Theorem 8. Let  $(X, (.,.))$  be a real or complex prehilbertian space and let  $x, y \in X$ . If  $0 < p \leq 2$  we have

$$(|x|+|y|)^p + ||x|-|y||^p \leq |x+y|^p + |x-y|^p \leq 2(|x|^2 + |y|^2)^{p/2}. \quad (25)$$

If either  $p \geq 2$  or  $p < 0$ , the inequalities in (25) are reversed.

Now, using the classical Clarkson lemma for real numbers (see for example [13]) we can obtain the Clarkson inequalities for unitary spaces:

Theorem 9. Let  $X$  be an unitary space and let  $x, y \in X$ . If  $1 < p \leq 2$ , then  $(p^{-1} + q^{-1} = 1)$ :

$$|x+y|^q + |x-y|^q \leq 2(|x|^p + |y|^p)^{q^{-1}}, \quad (26)$$

and

$$|x+y|^p + |x-y|^p \geq 2(|x|^q + |y|^q)^{p^{-1}}. \quad (27)$$

If  $p \geq 2$  the inequalities are reversed.

The second inequality in (25) can be generalized for  $n$  vectors.

Of course in a prehilbertian space  $X$  we have a parallelogram identity

$$|x+y|^2 + |x-y|^2 = 2(|x|^2 + |y|^2). \quad (28)$$

By a method of mathematical induction we can prove the following generalization of this identity:

$$\Sigma |x_1 \pm x_2 \pm \dots \pm x_n|^2 = 2^{n-1} \sum_{i=1}^n |x_i|^2, \quad (29)$$

where  $x_i \in X$ ,  $i=1, \dots, n$ , and the summation on the left-hand side is taken over all  $(2^{n-1})$  possible choices of the  $\pm$  signs. Of course (29) is equivalent to the following

$$\Sigma |\pm x_1 \pm x_2 \pm \dots \pm x_n|^2 = 2^n \sum_{i=1}^n |x_i|^2, \quad (29')$$

where we now have  $2^n$  possible choices of the  $\pm$  signs in summation.

Set

$$S_\lambda \equiv (\Sigma |\pm x_1 \pm x_2 \pm \dots \pm x_n|^\lambda)^{1/\lambda} \text{ and } Q_p = \left( \sum_{i=1}^n |x_i|^p \right)^{1/p}.$$

The following result is a generalization of the second inequality in (25) and of the results from [14], [15].

**Theorem 10.** Let  $X$  be an unitary space and let  $x_1, \dots, x_n \in X$ . For  $\lambda > 2$ , we have

$$S_\lambda \geq 2^{n/\lambda} Q_2 \quad (30)$$

while for  $\lambda < 2$  ( $\neq 0$ ) we have the reverse inequality. For  $\lambda = 2$  we have the identity (29').

Also, for  $\lambda \geq 2$ , we have

$$S_\lambda^\lambda \geq 2^n \sum_{i=1}^n |x_i|^\lambda. \quad (31)$$

Further generalization of this result and of results from [16] can be given similarly to the proof from [16].



Theorem 11. Let  $X, x_1, \dots, x_n$  be as in Theorem 10. We have:

(i) If  $p, \lambda \geq 2$ , then

$$2^{n/\lambda} Q_p \leq S_\lambda \leq n^{1/2-1/p} 2^{(n-1)/2+1/\lambda} Q_p. \quad (32)$$

If  $0 < p, \lambda \leq 2$ , then the reverse inequalities are valid in (32).

(ii) If  $0 < \lambda \leq 2, p \geq 2$ , then

$$2^{(n-1)/2+1/\lambda} Q_p \leq S_\lambda \leq 2^{n/\lambda} n^{1/2-1/p} Q_p. \quad (33)$$

For  $0 < p \leq 2$  and  $\lambda \geq 2$  we have the reverse inequalities in (33).

(iii) For  $\lambda > 0, p < 0$  we have

$$S_\lambda \geq 2^{(n-1)/2+1/\lambda} n^{1/2-1/p} Q_p. \quad (34)$$

(iv) For  $\lambda > 2, p < 0$ , we have

$$S_\lambda \geq 2^{n/\lambda} n^{1/2-1/p} Q_p. \quad (35)$$

For  $\lambda < 0$  and  $p > 2$  we have the reverse inequalities in (35).

(v) For  $\lambda < 0$  and  $0 < p < 2$  we have

$$S_\lambda \leq 2^{n/\lambda} Q_p. \quad (36)$$

#### R E F E R E N C E S

- [1] Kurepa, S.: On the Buniakowsky-Cauchy-Schwarz inequality, Glasnik Mat. Ser. III, 1 (21), (1966), 147-158
- [2] Blatter, C.: Zur Riemannschen Geometrie in Grossen auf dem Möbiusband, Comp. Math. 15 (1962), 88-107
- [3] Mitrinović, D.S.: Analytic Inequalities, Berlin-Heidelberg-New York, 1970
- [4] Kurepa, S.: Konačno dimenzioni vektorski prostori i primene, Zagreb, 1967
- [5] Mitrović, Ž.M.: On a generalisation of Fan-Todd's inequality, Univ. Beograd, Publ. Elektrotehn. Fak. Ser. Mat. Fiz. N° 412-460 (1973), 151-154
- [6] Fan, K., and Todd, J.: A determinantal inequality, J. London Math. Soc. 30, (1955), 58-64

- [7] Madevski, Ž.: Quelques conséquences d'une inégalité d'Ostrowski, Univ. Beograd, Publ. Elektrotehn. Fak. Ser. Mat. Fiz. N<sup>o</sup> 412-460 (1973), 167-170
- [8] Bombieri, E.: A note on the large sieve, Acta Arith. (see [9])
- [9] Montgomery, H.L.: Topics in Multiplicative Number Theory, Lecture Notes in Math. 227, Berlin-Heidelberg-New York, 1970
- [10] Selberg, A.: (See [9])
- [11] Heilbronn, H.: On the averages of some arithmetical functions of two variables, Mathematica 5 (1958), 1-7
- [12] Dragomir, S.S., and Sandor, I.: Some inequalities in prehilbertian space, Conf. Nat. Geom. Top. Tirgoviste, 1986, 73-76
- [13] Mitrinović, D.S., and Vasić, P.M.: Adenda to the monograph "Analytic Inequalities" I. Univ. Beograd, Publ. Elektrotehn. Fak. Ser. Mat. Fiz. N<sup>o</sup> 577-598 (1977), 3-10
- [14] Klamkin, M.S.: A vector norm inequality, Amer. Math. Monthly, 82 (1975), 829-830
- [15] Shore, T.R.: On an inequality of Van der Corput and Beth. Univ. Beograd, Publ. Elektrotehn. Fak. Ser. Mat. Fiz. N<sup>o</sup> 678-715 (1980), 56-57
- [16] Pečarić, J.E., and Janić, R.R.: Note on a vector norm inequality, Ibid. N<sup>o</sup> 735-762 (1982), 35-38

#### ЗА НЕКОИ КЛАСИЧНИ НЕРАВЕНСТВА ВО УНИТАРНИ ПРОСТОРИ

Јосип Е. Печариќ

#### Резиме

Во трудот се дадени неколку забелешки за некои класични неравенства во унитарни простори, кои се поврзани со неравенството на Коши-Буџаковски-Шварц, Беселовото неравенство и неравенството на Кларксон.

Josip Pečarić,  
Faculty of Technology,  
Zagreb, Croatia